# stryker

## LP15 x3, Power Pro XT x2, Lucas x1

Quote Number:	10359857	Remit to:	Stryker Medical
			P.O. Box 93308
Version:	1		Chicago, IL 60673-3308
Prepared For:	PROSPER FIRE DEPT CENTRAL FIRE STA	Rep:	David Atkinson
	Attn:	Email:	david.b.atkinson@stryker.com
		Phone Number:	2145480069
		Mobile:	2145480069
GPO:	NASPO SW300		
Quote Date:	04/19/2022		
Expiration Date:	06/30/2022		

Delivery Ad	dress	End User - S	Shipping - Billing	Bill To Account		
Name:	PROSPER FIRE DEPT CENTRAL FIRE STA	Name:	PROSPER FIRE DEPT CENTRAL FIRE STA	Name:	PROSPER FIRE DEPT	
Account #:	1248829	Account #:	1248829	Account #:	1078159	
Address:	1500 E 1ST ST	Address:	1500 E 1ST ST	Address:	PO BOX 307	
	PROSPER		PROSPER		PROSPER	
	Texas 75078-8971		Texas 75078-8971		Texas 75078	

#### **Equipment Products:**

#	Product	Description	Qty	Sell Price	Total
1.0	99577-001957	LIFEPAK 15 V4 Monitor/Defib - Manual & AED, Trending, Noninvasive Pacing, SpO2, SpCO, NIBP, 12-Lead ECG, EtCO2, BT. Incl at N/C: 2 pr QC Electrodes (11996-000091) & 1 Test Load (21330-001365) per device, 1 Svc Manual CD (26500-003612) per order	3	\$30,415.20	\$91,245.60
2.0	41577-000288	Ship Kit -QUIK-COMBO Therapy Cable; 2 rolls100mm Paper; RC-4, Patient Cable, 4ft.; NIBP Hose, Coiled; NIBP Cuff, Reusable, adult; 12-Lead ECG Cable, 4-Wire Limb Leads, 5ft; 12-Lead ECG Cable, 6-Wire Precordial attachment	3	\$0.00	\$0.00
3.0	11141-000115	REDI-CHARGE Base (power cord not included)	3	\$1,292.00	\$3,876.00
4.0	11140-000015	AC power cord	3	\$68.85	\$206.55
5.0	11140-000052	LP15 REDI-CHARGE Adapter Tray	3	\$175.10	\$525.30
6.0	21330-001176	LP 15 Lithium-ion Battery 5.7 amp hrs	12	\$398.65	\$4,783.80
7.0	11171-000082	Masimo <sup>™</sup> ;RC Patient Cable - EMS, 4 FT.	3	\$227.80	\$683.40
8.0	11171-000049	Masimo <sup>™</sup> Rainbow <sup>™</sup> DCI Adult Reusable Sp02, SpC0, SpMet Sensor, 3 FT. For use with RC Patient Cable.	3	\$544.00	\$1,632.00
9.0	11171-000050	Masimo <sup>™</sup> Rainbow <sup>™</sup> DCIP Pediatric Reusable Sp02, SpC0, SpMet Sensor, 3 FT. For use with RC Patient Cable.	3	\$599.25	\$1,797.75
10.0	11160-000011	NIBP Cuff-Reusable, Infant	3	\$17.85	\$53.55
11.0	11160-000013	NIBP Cuff-Reusable, Child	3	\$20.40	\$61.20
12.0	11160-000015	NIBP Cuff-Reusable, Adult	3	\$25.50	\$76.50
13.0	11160-000017	NIBP Cuff -Reusable, Large Adult	3	\$28.05	\$84.15

# stryker

## LP15 x3, Power Pro XT x2, Lucas x1

Quote Number:	10359857	Remit to:	Stryker Medical
			P.O. Box 93308
Version:	1		Chicago, IL 60673-3308
Prepared For:	PROSPER FIRE DEPT CENTRAL FIRE STA	Rep:	David Atkinson
	Attn:	Email:	david.b.atkinson@stryker.com
		Phone Number:	2145480069
		Mobile:	2145480069
GPO:	NASPO SW300		
Quote Date:	04/19/2022		
Expiration Date:	06/30/2022		

#	Product	Description	Qty	Sell Price	Total
14.0	11160-000019	NIBP Cuff-Reusable, Adult X Large	3	\$40.80	\$122.40
15.0	11577-000002	LIFEPAK 15 Basic carry case w/right & left pouches; shoulder strap (11577-000001) included at no additional charge when case ordered with a LIFEPAK 15 device	3	\$272.00	\$816.00
16.0	11220-000028	LIFEPAK 15 Carry case top pouch	3	\$48.45	\$145.35
17.0	11260-000039	LIFEPAK 15 Carry case back pouch	3	\$69.70	\$209.10
18.0	11996-000474	4G Modem: Verizon Cellular (for use on customer data plan; purchased separately)	3	\$1,160.10	\$3,480.30
19.0	99576-000063	LUCAS 3, v3.1 Chest Compression System, Includes Hard Shell Case, Slim Back Plate, (2) Patient Straps, (1) Stabilization Strap, (2) Suction Cups, (1) Rechargeable Battery and Instructions for use With Each Device	1	\$13,876.50	\$13,876.50
20.0	11576-000060	LUCAS Desk-Top Battery Charger	1	\$994.50	\$994.50
21.0	11576-000071	LUCAS External Power Supply	1	\$355.30	\$355.30
22.0	11576-000080	LUCAS 3 Battery - Dark Grey - Rechargeable LiPo	1	\$605.20	\$605.20
23.0	11576-000089	LUCAS Grip Tape for Slim Back Plate	1	\$23.80	\$23.80
24.0	11576-000046	LUCAS Disposable Suction Cup (3 pack)	1	\$119.00	\$119.00
25.0	21576-000074	LUCAS Stabilization Strap	1	\$78.20	\$78.20
26.0	650605550003	Power-PRO XT MTS High: Dual wheel lock, x-restraint package, retractable head section 02 bottle holder, 3- stage IV pole PR, equipment hook, H/E storage flat, XPS side rail, XPS mattress, Knee-Gatch, Dual compatibility, backrest storage pouch, steer-lock	2	\$22,357.01	\$44,714.02

Equipment Total:

\$170,565.47

### **Trade In Credit:**

	Pr	roduct	Description	Qty	Credit Ea.	Total Credit
--	----	--------	-------------	-----	------------	--------------

#### **ProCare Products:**

#	Product	Description	Qty	Sell Price	Total
27.0	78000171	LIFENET Asset, per device	3 \$621.30		\$1,863.90
			ProCare Total:		\$1,863.90

# stryker

## LP15 x3, Power Pro XT x2, Lucas x1

Quote Number:	10359857	Remit to:	Stryker Medical
			P.O. Box 93308
Version:	1		Chicago, IL 60673-3308
Prepared For:	PROSPER FIRE DEPT CENTRAL FIRE STA	Rep:	David Atkinson
	Attn:	Email:	david.b.atkinson@stryker.com
		Phone Number:	2145480069
		Mobile:	2145480069
GPO:	NASPO SW300		
Quote Date:	04/19/2022		
Expiration Date:	06/30/2022		

#### **Price Totals:**

### Prices: In effect for 90 days

Terms: Net 30 Days

Contact your local Sales Representative for more information about our flexible payment options.

#### **Capital Terms and Conditions:**

Deal Consummation: This is a quote and not a commitment. This quote is subject to final credit, pricing, and documentation approval. Legal documentation must be signed before your equipment can be delivered. Documentation will be provided upon completion of our review process and your selection of a payment schedule. Confidentiality Notice: Recipient will not disclose to any third party the terms of this quote or any other information, including any pricing or discounts, offered to be provided by Stryker to Recipient in connection with this quote, without Stryker's prior written approval, except as may be requested by law or by lawful order of any applicable government agency. A copy of Stryker Medical's Acute Care capital terms and conditions can be found at <a href="https://techweb.stryker.com/Terms\_Conditions/index.html">https://techweb.stryker.com/Terms\_Conditions/index.html</a>. A copy of Stryker Medical's Emergency Care capital terms and conditions can be found at <a href="https://teshweb.stryker.com/Terms\_conditions">https://teshweb.stryker.com/Terms\_conditions/index.html</a>. A copy of Stryker Medical's Emergency Care capital terms and conditions can be found at <a href="https://teshweb.stryker.com/Terms\_conditions/index.html">https://teshweb.stryker.com/Terms\_conditions/index.html</a>. A copy of Stryker Medical's Emergency Care capital terms and conditions can be found at <a href="https://teshweb.stryker.com/Terms\_conditions/index.html">https://teshweb.stryker.com/Terms\_conditions/index.html</a>.